3.1.2
Bidding Game: - 3NT, 4 of the Major
When responder has game forcing values, about 9+ pts, then he has a lot more options available. We start by considering the cases where responder simply wants to play in game (either 3NT or 4 of the major).

1)
3NT
=
Responder rebids 3NT on all 5332 type hands with about 10-15 points. 



Also with 5422 type hands when the 4 card suit (a minor) is not very sturdy 


(and the two doubletons are quite reasonable).

2)
4(/(
=
4 of the major promises 9-15 points and a 6+ card suit. In fact if playing Texas transfers (section 6.2) then these Jacoby sequences should be the top of the range and mildly slam invitational.
Hand A
Hand B
Hand C
Partner opened a strong 1NT, you bid 2( and




partner completed the transfer with 2(. 

( QJ1063
( KJ975
( KQJ762
Hand A bids 3NT, showing exactly 5 (’s and

( J64
( K8
( K103
game values. Hand B does not wish to 

( A3
( A2
( A2
introduce this anaemic ( suit, so bids 3NT.

( K84
( J432
( J4
Hand C has a 6 card suit; so 4(, partner is 



invited to bid on if he likes (’s. 

Example 1

West
East
West
East

(1)
transfer







(2)
normal accept

( 106
( KJ975
1NT
2(
(1)
(3)
5 card ( suit

( AQ42
( K8
2(
(2)
3NT
(3)


( KQ87
( A2
pass

( KQ5

( J432

  

______________________

With 3 card support it is usually best for opener to opt for the major suit contract rather than NT.

Example 2

West
East
West
East

(1)
transfer







(2)
normal accept

( A109
( KQJ76
1NT
2(
(1)
(3)
5 card ( suit

( QJ84
( K103
2(
(2)
3NT
(3)
(4)
I prefer the 5-3 fit

( KQJ8
( 972
4(
(4)
pass

( Q8

( J4





______________________



As I said, the sequence of transfer and then 4 of the major is mildly slam invitational: -

Example 3

West
East
West
East

(1)
transfer







(2)
normal accept

( A109
( KQJ762
1NT
2(
(1)
(3)
6 card ( suit, mild slam invite

( QJ84
( K103
2(
(2)
4(
(3)
(4)
RKCB

( KQJ8
( A2
4NT
(4)
etc to 6(
( A8

( J4


With excellent trumps and a max, West has no problem in going slamming.



______________________



Now this is all quite straightforward, at least I think it’s all straightforward, but this hand is from the March 2004 issue of the Dutch magazine ‘Bridge’. 

Hand D
You were asked what to bid after the sequence had started: -

( 5

West
East

( KQJ654



( Q105

1NT
2(
(1)

( 765


2(
?

The article said 3(, invitational. Now an invitational bid here is 8-9 points, so OK?  

I don’t think so. This hand is not 8 points, it’s more like 10! There is a fit (partner must have at least 2 (’s) and this hand is certainly worth game in my view. So 4(.

But there is, of course, a catch here. I would not be in this position as I would have bid 4( (or preferably 4(, a Texas transfer) at (1).


The article then went on to say that with only a 5 card suit then the 

Hand E
invitational bid is 2NT; so change Hand D slightly: -


( 54

West
East

( KQJ65



( Q105

1NT
2(
(1)

( 765

 
2(
2NT

I have no problem with that, Hand E is a good 8 count but is worth no more than an invitation. Hand D is much stronger than Hand E, hand evaluation is more than just counting points.
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